B PR 5 2 it

% 1 Z B R

1. BREHER EIRE LN, RRH 2 5%
FIREEREFLR, M A4LE T, KS
T B (€ B?

2. FZIGHEFRRERIE A B B 31 B Z5TRE 8

VB RIRR TR 1 /PRI A EIRFE B 1

B LN, AR HEEK, /]
BEZKABRMAHEE___ VE?

3. B x A& y ILE S0 600 SR A5,
RBAZRE E—CERGERERLA,
FHEATEE 400 AR %2 A%
AESD 2 T, Al AT 300 AR,
KEH x= A?y= CE?

4. WEAEDD, ERNESE—E9, Mk
2688, HHMAIBUVE—(E 2, AIFIR 382,
KIEFEHIFIEy ?

5. FLBEx ARE—EMNEy ARAE
FrehRyE RS EITE, ERE LT, 158
FIEEE; EEHE T A 30 B4 EZ, K
FEFEEEHRM L FYEIE(EE?

6 7£ 4:00~5:00 Z &, BF$tAIsTS$HRIZEA:

(1) 780 E(ES)?
(2) TrERK 180 fE?
(3) el STERYL 90 E?




RS 2 fitt

5 2 Z AEERE
1. TE4E L x+ky=k, M: kx+4y=(6-k),

(1) EMERES, Al k= ?
(2) EMEHT, Al k= ??

2. JEEER 3x+y=6 [M451% 2 B, FFA T3
B, KRV E SR T2 R ?

3. —E4EE(-4,3) B x &y SHEERERK
=Al, KEEESITEE 3 M)

?

4. Ly:x-y=4, Lp: x+y=8, Lj:4x-ky=10, [t

= AEER=AN, Kk{EE 3 #):

?

S E%ﬂ A(zls)! B(‘3,2), C(61-4): & D(le)r %

IEVUBEE] DUERCETIUE, K D &L

1A 3 &)

'

6. IF ¥ ABCD, EL401: A(-8,-7), C(9,24), k:

(1) B F54HR
(2) D BGALAE

?
?

(3) IESFmiTH=




TR 2 it

5 3 E.LREALEAIC

1. BZRELU—EHEEH 5000 AR, EF
R ELRE, 285 200 AR, HEE 800
AR, K EZIKERE, REE

AR?

2. EETE8SUVEEHE RAEESY, BES
SHIESR, ERE 4P, K BHEBAVE
REER ?

3. —HRE 12 ARHY 15K &, 5 —HEE 18
ATEH 20K EIEEZERE__ K?

4. E-EREINEENEEENFIRIE
Eb, R 30 REVEEXEE 90 BT, &
AINOERRREELE 3 1 289RIE, KEBR
—_— B

5. fE M ERVE AR, & T HIEERENINE
FYSEFRRIELE, EAI3BET 18 AR,
K (SBHFEET_____ AR?

BR?

2 FabmwET

6. YIREHVE BT TR EERERY AR
tE, 3 M ERYER 3500 A E, EHRE
70Kg 458, TEI M 2R 1500 L ERE
z=F EEBR___ Ke? ‘

7. ELEEH, 9 EZERNERKKEE,
ENEEHERE 2 A5, MIAESFRR

A5

8




B 2 i
554 EAER

1. BEHl—6<x<3, 2<y<10, k:

(1) <(2x+y)<
(2) __ <(2x—3y)<
(B S(x*+y?)<
(4) <(xy)<
(5) S(;)S
1

6. ¥ T KRHEEH

(2) #|ax+3|<b HYRE B —7<x<4, k: 2001 2002 V2022 T 2025

a= ?b= ? Mok ____ 2




